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SUMMER TERM 1 - YEAR 4 THURSDAY MORNING ACTIVITIES

5 Fluency Questions 5 Maths Problems Spelling Challenge Tricky Question ©
Each sentence below has one word
that is incorrect. Write the correct Who is in this picture?
16. What is the missing number? Spe"mg of this word.
900 x 4 = 296 297 298 299 [ |
17. 1 4
15 15 1. It was achually my turn next.
78 +50 = 3 | _
18. Write ek decimal number. 2. That milk had a peckuliar taste.
] 3. Queen Victoria's raign lasted 64 years.
?78=496 19. 23 + 10 =

4. The horse would not go fourwards, only backwards!

20. Using £10, Rob buys a drink for 90p 5. That materyal feels so soft and silky.

4329 + 4329 = and a wrap for £2.50. How much left?

85-6=




